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PAPER-II
LABOUR WELFARE AND INDUSTRIAL RELATIONS
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Time : 1Y/, hours] [Maximum Marks : 100
Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 50
Instructions for the Candidates qhenieat & far few
1. Write your roll number in the space provided on the top of | I. Tl I % S T ™M W AT Je TR ey |
this page. 2. T AT H U Sgiashedd We ¥ |

2. This paper consists of fifty multiple-choice type of
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will
not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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LABOUR WELFARE AND INDUSTRIAL RELATIONS
Paper — 11

compulsory.
Match the following :
Thinker Management
Principle

a. FW.Taylor i. Authority and
Responsibility

b. Henri Fayol  ii. Hierarchy

c. Weber 1ii. Separation of
planning from
doing

d. Elton Mayo  iv. Human
Relations
Approach

Codes :
a b c d
(A) i 1 ivo il
(B) iii v i il
(C) i i i v
(D) i il i v
Which of the following is the major
element of planning process ?
(A) Developing leadership abilities
(B) Selecting right people
(C) Perception of opportunities
(D) Motivating people

Which principle of management is
violated by matrix organisation
structure ?

(A) Division of Labour

(B) Unity of Direction

(C) Unity of Command

(D) None of the above

Which of the following involves
careful analysis of inputs and
corrective actions before operation is
completed ?

(A) Feed forward control

(B) Concurrent control

(C) Feedback control

(D) All the above

5.

Note : This paper contains fifty (50) objective type questions of two (2) marks. All questions are

Which of the following is not a
semantic barrier of communication ?

(A) Faulty translation
(B) Ambiguous words
(C) Specialist’s language
(D) Inattention

People should be regarded as assets
rather than variable costs was
emphasised in

(A) Personnel Management

(B) Human Resource Management
(C) Personnel Administration

(D) Public Administration

The classical theorists favoured

organisation based on
(A) Civilian model
(B) Strategic model
(C) Military model
(D) None of the above

Job analysis includes :

(A) Job  description and job
enlargement

(B) Job enlargement and job
enrichment

(C) Job  description and job

specification
(D) All of the above

A test which measures, what it is
intended to measure is

(A) Reliable test

(B) Standardised test
(C) Objective test
(D) Valid test
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1.

Ao HeATUT TS el g

weast — 11
AT: T U § U= (50) Tg-Tahedid U9 € | Uieh U &t (2) 3Tk € | |t I e € |

o

fTTREd ol GHTATT i
foar= e & fagia
a. Th. T, 2oR 1. WK 3R e

b. &R HAT ii. TgH

c. IR jii.d ¥ IS R
G HLAT

d. Teem iv. AT G 39T

FT

a b c d
A i i v i
B) i iv i i
©) i i i iv
D) i i i iv
frefefad & @ ®F 91 FS Uik #
T Heh & 2
(A) T AT H TR FHAT |
(B) W&l T T =F T |
(C) 7o & Y |
(D) AN St AU AT |
e o Hies TeAT g vEEd & {6y
g 1 Soota fomar T € 2
(A) o9 faas=
(B) %™ &t wehdn
(C) e &t Tehar
(D) Sudwd B T HE Tl

FE I EH F Ueel FEftad § 9 i |
T A H1 Ghoaid  fawemor Y

RIS HRATE & 2
(A) ThiE T fiET
(B) gHerd =0
(C) i o T
(D) S =

5.

frefafad o @ i @1 Guuor  gHgE o
T T&T & 2

(A) FEYOT ST

(B) 53UF UK

(C) fosrost =t o

(D) TITRAET

FAfafed & @ 69 & 3fdad I8 "
ST ¢ fob aieamsier SmTe sl ST A
I ARG & Y H U ST AT ?
(A) HH® T

(B) WM T UEEA

(C) wIHes URTE

(D) <A uRIEA

FATAHE Fagideniear 7 F=fafag w
MURT T &% TeT § 319 foaR-agem
o

(A) TR TEeT

(B) oA wew

(C) I w=wT

(D) Sude | ¥ HIE TRl

1 fageror § fr=fataa e €
(A) HF TeRTT 3R H fodr

(B) &M faaR 3R S uiqeear
(C) = faeror 3R e faferear
(D) ST &

TF UHT GO0, S OSE H A1OT Y o
T AT AT BART S99 &1 ST T el & 2
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10.

11.

12.

13.

An enquiry that is conducted afresh
because of the objections raised by
alleged employee is called

(A) Domestic enquiry
(B) De-novo enquiry
(C) Ex-parte enquiry
(D) None of the above

The concept of HRD scorecard was
introduced in India by

(A) Udai Pareek
(B) Rao and Pareek
(C) T.V.Rao

(D) Arun Honappa

Performance appraisal by all the

following parties is called 360°

performance appraisal :
(A) Supervisors and Peers

(B) Subordinates
themselves

and Employees

(C) Users of Service and Consultants
(D) All the above

The following is the right process of
training :

(A) Instructional design, validation,

need analysis, implementation
and evaluation
(B) Need analysis, instructional
design, validation,
implementation and evaluation
(C) Need analysis, validation,
instructional design,

implementation and evaluation
(D) Instructional design, need

analysis, implementation,

validation and evaluation

14.

15.

16.

17.

Fish bone analysis as a tool of quality
circle was advanced by

(A) Edward Deming
(B) Joseph Juran

(C) Kouru Ishi Kawa
(D) Phillip Crosby

Match the following :
Books and Authors
Concepts
a. Games People 1. Eric Bernie
Play
b. ITam OK you ii. Kurt Lewin
are OK
c. Johari 11i. Thomas A.
Window Harris
d. Force  Field iv.Joseph Lufth &
Analysis Harry Inghams
Codes :

a b c d
(A i i1 v i
B) 1 il iv ii
© v 1 i i
(D) i1 1 il v

Which of the following decreases
group cohesiveness ?

(A) Agreement on group goals
(B) Frequency of interaction
(C) Large group size

(D) All the above

Managers subscribing to
assumptions attempt to structure,
control and closely supervise their
employees.

(A) Theory ‘X’
(B) Theory ‘Y’

(C) Both Theory ‘X’ and Theory Y’

(D) Neither Theory ‘X’ nor Theory
6Y7
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10.

11.

12.

13.

ARG HHAN FRT IS T AU
HROT T R ol T ATt e ol et ©

(A) = S=

(B) & ¥ i
(C) 3w S

(D) S9ge @ P @l

e GETE bt & 37U Sl Tehod
ORT § F=fefad gRT 3R & 7
(A) 37T IR

(B) @ 3R IR

(C) T

(D)  3THUT BT

W oW wER gN T SH A
FHRSIET HeaiehT i 360° FHRIFSIET
oo Fed &

(A) TS 3T el

(B) ST 3R HEAR!

(C) e YR S TRTHIRTT

(D) gt Tt

FAtaRaa ufsham, TiRTeTor o6t Tet uishar ¢

(A) STISVMcH  ohod,  SIeTid,
MEYAHAT [ITATTT, HETaaT T
Todieh

(B) oTEvAHAr  faveluun, SRS
Todieh

(C) omavawar  favemor, S,
STISTMCHS SINTHeT, BRI 3T
Todieh

(D) 3AI=3McHS ANTHTT, NI
TR

14.

15.

e & % 3 o ®9 H TR I
faveroor 1 o FEffEd R
ToRan T o

(A) TweeS ST

(B) S ST

(C) % T2l e

(D) Tretia shrEam

f=ferfad st gamHierd it
TEH AN GHTAT  AEH
a. TEUUT i IR AT
b. T 3TH T ii. Fe cite
3R 3Tk
c. SR foret
d. B Hee
LEITGIECE]
BS

a b c d
(A) i i iv i
B) i i iv i

iii. o T R
iv. 5% @ 3R
& T

© iv i i i
(D) iii i i v

frfafed # ¥ ®F g Sareied &
HETT § 2

(A) TE & 7T T Tenrd

(B) WA & IRERA

(C) =€ 3R H T

(D) ST &

W YO W@ o Jauesh
0 HHAMET T o, FE=07 qor gqd

TAAETOT I Dl BT B & |

(A) TEsm@ X

(B) Tosm@ ‘Y’

(C) fasi| <X’ 3R Y’ g+

(D) T fagid X’ 3T & fagia Y’
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18.

19.

20.

21.

According to Fiedler’s Contingency
Model of Leadership, which one of the
following is a situational variable ?

(A) Leader — Member relationship
(B) Organisational System
(C) Degree of task structure

(D) Leader’s position power

The right sequence of steps in Kurt
Lewin’s change procedure is

(A) Unfreezing — Moving — Freezing
(B) Moving — Unfreezing — Freezing
(C) Unfreezing — Freezing — Moving
(D) Freezing — Moving — Unfreezing

Which of the following is not a
traditional method of organisational
development ?

(A) Survey feedback
(B) Sensitivity training
(C) Process consultation

(D) Managerial grid

Characteristics of Industrial Relations
do not include :

(A) Industrial Relations are outcome
of employment relationship in an
industrial enterprise.

(B) Industrial Relations promote the
skills and methods of adjustment
and co-operation with each other.

(C) Industrial  Relations  create
complex rules and regulations to
maintain cordial relations.

(D) Industrial  Relations  system
creates an environment of
distrust and conflict.

22.

23.

24.

a. Joint Management 1.

b. Works Committees

c. ILO established in the

d. First National

Who are not the Actors of Industrial
Relations ?

(A) Workers and their organisations

(B) Employers and their
organisations

(C) Community and cultural
associations

(D) Government and the role of the
State

Which of the following is a machinery
for settlement of industrial disputes ?

(A) Indian Labour Conference
(B) Joint Management Council
(C) Industrial Tribunal

(D) Standing Labour Committees

Match List — I with List —II :
List—1I List — 11

1958

Council consisting of

representatives of

workers and

management was

considered by the

Indian Labour

Conference (ILC) in its

15™ Session in the year

ii. 1947

were set-up under the

Industrial Disputes Act

in the year

1ii. 1919

year

v. 1969

Commission on Labour

submitted its report in

the year

Codes :
a b c d

Ay i i il v
B) iv i il i
© i i i v
D) i iv i i
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18.

19.

WEER & MHNHF Aged $ HedA &
AR Hefafed & & ®F @ ferfara
e (e €2

(A) T — T H Gy
(B) HISHTHE TOTEA

(C) & T H &R
(D) =T =t fefa =t wifert

e Tl i AR I UfsHAT H RO
T HA §

(A)  STTRINTT - JFeRT - WHifeTT
(B) HferT - RIS - ShifsrT
(C) SIS - ShifsT - wfem
(D)  SRITSHT - FfeRT - SThRISTT

FeffEd § | % 9@ fatg e
forera =l arRuies fafy &1 & 2

(A) T ®IS IF
(B) HageMeT Hf¥TeToT
(C) ifshan wr=sT
(D) veHsmE e

Frenfiter et =t fagivaret § fHefatad

I T8l €

(A) TUH TS ST H SMifieh e
AT & Heedl o GO € |

(B) SR Ty WER FHENH 3R
A % pwe AR fafumt
TGS IATE |

(C) i Tee HiglEyul Hee s o
fou St Fm iR fafreg dar
FAE |

(D) SiENfTH &y yomedr Sifavard iR

219 hl ATATSOT STl % |

22,

23.

24,

ST HeHl o SHIEshal HIF 6l © 2
(A) IR 31T 37 T
(B) U 31X 3 T
(C) WA I Hiepf T
(D) |IHR 3R T Ht e

A e’ &% FHuem % fou
AffEd @ S T o g2

(A) YR Sfw T
(B) ¥ UeET IR
(C) AT ~ArfeeoT

(D) T o affd

g — 19 gEt — 11 ot gomferd i ;
et - 1 =t - 11

a. HTR 31T Yeeeha] & i. 1958
RS W fRT 99 | i
30 159 MHATH A IR
ST i (3TE. T, 9.
g1 ferame T T ?

b. e foamg sfuf=m & ii. 1947
ST ST ST &1 e
e a9 forar T ?

c. IWLT o™ T A iif. 1919
T fohg o i T ?

d. 7oH LT SW @M F iv. 1969
YT RS et TR ot ?

&<

(A) i i il v

B) iv i il i

© i i i v

D) i iv i i
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25.

26.

27.

Which of the following trends in the
employment relations in the new
economic era is not correct ?

(A) Declining stability and security
(B) Declining labour intensity

(C) No shift from contract of service
to contract of service

(D) Declining mutual commitment

A Trade Union means

“An association of workers in one or
more professions carried on mainly for

the purpose of protecting and

advancing the members’ economic

interest in connection with their daily
work”.

Identify the author :

(A) Sidney and Beatrice Webb
(B) J. Cunnison

(C) G.D.H. Cole

(D) Clyde E. Dankert

A union may claim recognition for an
industry in a local area, if it has
membership of

(A) 10% of the workers in that
industry.

(B) 15% of the workers in that area.

(C) 25% of the workers of that
industry in that area.

(D) 30% of the workers in similar
industry.

28.

29.

30.

Who among the following advocated
the Trusteeship Theory of Trade
Union ?

(A) N.M. Lokhande
(B) B.P. Wadia

(C) G.L.Nanda
(D) M.K. Gandhi

Inter and intra-union rivalry in Trade
Unions is reduced by

(A) The provisions of the Industrial
Disputes Act 1947

(B) By voluntary tripartite code of
inter-union rivalry — 1957

(C) By bipartite mutual agreement at
the industry level

(D) Above all

Match the following trade unions
according to the year of formation :

List—1 List —1I
a. AITUC 1. 1947
b. CITU . 1948
c. INTUC . 1920
d. HMS iv. 1970
Codes :

(A) i iv i i
B) i i iv i
© i i i v

D) i i il v
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25.

T agE T W AW F g o
frfofaa & § % @ vghd Tl el § 2

(A) TNFeE T T Gadt e
(B) &ifHeh GEdT Gadt e

(C) ¥an HfdeT ¥ FalT WiorT # SfRor Tel
(D) TRER Ufas % e

TSI T ¥ Acqd U AT e adrai
H @ HAIRE T F E, SRR 6
P FF & T T 30 I h ST
fed = @ 3T Wil &% folT 77 &9 9
H HA T I

TGS T

(A) Toe iR siered e
(B) . wAEA

(C) ShErTa. =i

(D) FISE. THS

T &7 % 6 ST & fou g 99
Il UeH 6T ST &l SeT T Gohal &
T foF ST A=

(A) 3T I % HETRI H T&T H 10
9T & |

(B) ¥ &F % HIAIRI H T H 15
yfcrerd & |

(C) 39 &3 % 3T SN & HERI &l
T T 25 Ui & |

(D) TUE ST % HERI Hl T H
30 wfqerd & |

28.

29.

30.

frefefad & @ e Aeige 99 & =t

faegia = TRalt Ht & 2

(A) TITA. AEY

(B) st.dr. anfear

(C) Sftwet. =

(D) TH. &. e

TSTgY O § 3 IR SR WY Widgigar

frfeiad §RT 7 & S §

(A) ST fgers efaf=d, 1947 &
BISOIE]

(B) 3 WY WiaTadl 1 Wie® Hue
Hfea, 1957

(C) o T W Foim R
TEHTd

(D) 3w |t

Tfafad Aeige Tl i 37 TTed & ay

% ITTHR HMIAT T :
et - 1 =it - 11

a. TAEAZE i 1947

b. WA Qi 1948

c. FETWAFH iii. 1920

d TauHTH iv. 1970

B

(A) i iv i i
B) i i iv i
© i i i v

D) i i il v
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31.

32.

33.

‘Employment Injury’ means personal
injury to an employee caused by
accident or occupational disease
arising out of and in the course of
employment being an insurable
employment if the accident occurs or
occupational disease is contracted only
within territorial limits of India and not
outside India.

The above statement is

(A) correct.

(B) incorrect.

(C) true only in case of occupational
injury.

(D) true only in case of accident.

Under ESI Act, 1948 a member of the
Corporation, Standing Committee or
the Medical Council shall cease to be a
member of the body if he fails to attend

(A) two consecutive meetings
(B) three meetings intermittently
(C) three consecutive meetings

(D) four consecutive meetings

Under Workmen’s Compensation Act,
1923

(A) individual manager subordinate
to an employer cannot act as
managing agent.

(B) managing agent includes an
individual manager subordinate
to an employer.

(C) only employer can act as
managing agent.

(D) the appropriate government shall
appoint managing agent.

34.

3s.

36.

The Workmen’s Compensation Act,
1923, the Maternity Benefit Act, 1965
and the Employees State Insurance
Act, 1948

(A) together can be applicable.

(B) the Maternity Benefit Act and the
Employees State Insurance Act
can be applicable at a time.

(C) the Workmen’s Compensation
Act and the Employees State
Insurance Act can be applicable
at a time.

(D) if the Workmen’s Compensation
Act and the Maternity Benefit
Act are  applicable, the
Employees State Insurance Act is
not applicable.

What is the content of the Schedule I
of the ESI Act, 1948 ?

(A) List of injuries deemed to result
in permanent total disablement.

(B) List of injuries deemed to result
in permanent partial disablement.

(C) List of occupational diseases.

(D) None of the above

A person is qualified to be chosen as a
member of the executive or any other
office bearer of the registered trade
union if he attained the age of

(A) Fifteen years
(B) Eighteen years
(C) Twenty one years

(D) Twenty five years
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31.

33.

‘TS et 9 ¥ aed ot sHHeR
N IR T F & 9 | &, S e
% FRO HR FESH % IR g g A1
TU @G I % HROT §E &, Ak
R RS % 9 | A gee A
ST I TR i | & 38T M &l
a7 g7 & 7 foh IRa ¥ e |

TG FIA

(A) wWE

(B) o E

(C) et IS o & HH | T |
(D) At g % HIHG H Tl |

. HHAR TS S AtHEE, 1948 & ST

m, @ gfata ar afeer aieg @
T3 39 feafq o 9 =761 W afe 5%

(A) AR I SSH H IuRd Té B € |

(B) dr-drgr H o 9SSkl H Sutedd Tl
BT |

(C) TWIAR o Sigshi | Sufedd =Tl gidm
T

(D) AR IR 3 | Suferd =@l e
z I

FHHR Ui afTad, 1923 & €=

(A) Tl Fass & oA dafes
Yeeh U USE % & § S Tél
FLHHATE |

(B) WevH Tsie ® fREr AN @
T Jafeades vageh | et & |

(C) haet oS JaE Tsie & €9 |
ERECREIR

(D) Tgfod THR U Tsie @i Hgfer
FHAT |

34.

3S.

36.

FHHR Ufaey  AfufEm, 1923, g
ugfaer AfufEm, 1965 R FHART 59
ST erfutEm, 1948

(A) T[T A fHT ST Tt & |

(B) vgfq ugfaen siufae R wHERt
T S AfafE v e @ e
ST W € |

(C) FHBR UldhT MUHTT 3R HHaR
T ST ST U 9 o fohu
T T € |

(D) AR HABR WA AFET SR
T wgfaren stfafae o fehr S
& o HEART T e stfufrEm ony
Tt o ST ¥

SN ST T ITEH, 1948 ot
T — 1 o famg-oeg T & 2

(A) udl = w g, e vEr wwen
ST & 5 A% HRoT wmE qor
STITERTCT &1 STt & |

(B) UHl @i ® g, = UHr @Hen
ST € fof S SRoT wE i
STSTERTCT &1 STt & |

(C) =redgeh Tl gl |
(D) SYg # H HIE T |

U1 AR YSThd AT TF Sl HIAHION
FT TG T HT 3T TRIUHRT & €T H
T S & ferg I €, afg STt 37

(A) UsEaUE |

(B) 3TERE W & |
(C) TF=REaUE |
(D) U=HE AT & |
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37.

38.

39.

The registered trade union can collect
political fund from its members as a

(A) general fund
(B) cannot collect political fund

(C) separate fund from the interested
members

(D) only from political parties

‘Award’ under Industrial Disputes Act,
1947 is

(@) not interim determination of
labour court

(b) not arbitration
Section 10A

(c) not final determination of labour
court

(d) not final determination of
arbitration award under section
10A

(A) All statements are true.
(B) (a) and (d) are true.
(C) (b)is true.

(D) All statements are wrong.

award under

The dispute of individual workman is
deemed to be industrial dispute if the
dispute or difference is connected with
or arising out of the following where
no other workman nor any union of
workman is a party to the dispute.

(A) Grievance of an individual
workman.

(B) Discharge of an individual
workman.

(C) Dismissal of an individual
workman.

(D) Discharge, dismissal,
retrenchment  or  otherwise

termination of services of an
individual workman.

40.

41.

42.

43.

44.

The ceiling on wage or salary for

calculation of Bonus under the
Payment of Bonus Act 1965 is

(A) 2,500 (B) 3,500

(C) 4,500 (D) 26,500

“A  desirable state of existence
comprehending  physical, mental,

moral and emotional health or well
being” is the theme of which concept
of Labour Welfare ?

(A) Social Concept

(B) Total Concept

(C) Relative Concept

(D) Positive Concept

Assertion (A) : Labour Welfare is
relative to time and space.

Reason (R) : It shall be universal and
perpetual.

(A) Assertion and Reason are right.

(B) Assertion is wrong and Reason is
right.

(C) Both Assertion and Reason are
wrong.

(D) Assertion is right but its
explanation given in Reason is
wrong.

Minimum conditions of welfare is
explained by

(A) Dr. Aykroid’s formula

(B) Subsistence Theory

(C) Both (A) and (B)

(D) None of the above

Which of the following is not a
principle of Labour Welfare ?

(A) The Principle of Uniformity

(B) The Principle of Co-ordination
and Integration

(C) The principle of Association
(D) The Principle of Timeliness
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37.

ST ToIgY | 30 9l ¥ Fefetad
% ® T AT Y TG Y Tl ¢
(A) =T Ay

(B) TSTiTeh fAf sget el Y |ehelT & |
(C) ¥4 T& arel I3l | 3TerT My
(D) et TS Tolt &

e faare afafam, 1947 & 1=
A

(a) oM <A R fAR® fHeror &
g

(b) ERT 10-% % 3T AT UEe
THE |

(c) M =maTerd gRT 3 feRer 76 € |

(d) R 10-% % 3TH Ty U=
1 il R 7@ & |

(A) T FH G T |

(B) (a) 3R (d) W |

(C) (b)TET |

(D) @i U T € |

. T% HEIR A Al foarg 39 i 5

3t foas wwen oM Ik 98 e
1 gAY AT ®t 36 R F AT H
HROT UT T & 3R STl g 3T AR
T FARE N HE G99 39 GO H Hig
TETHR T &

(A) 3 TRt R o AT e @ |
(B) s fohalt s ot s feram S |
(C) 3 ferdt SR 3T Ug= Tkl ST |

(D) 3T fFEr HFER i TE@Rd, T8
Al AT IFAT Wl F g A S |

40.

41.

42.

43.

44.

T G AUEE, 1965 & € S99

w1 feare o % faw weigd ar aad &
affereherm drm &

(A) 2,500 (B) 3,500

(C) %4,500 (D) 6,500

“FMINh, AFANESH, Afde A HcHS
W A WAl Jel foeme S
et o HodToT B i G GehedAT
i &

(A) TS Hehea T
(B) 9 Hehou T
(C) aTUeT HehouHT

(D) FHRIHE HHeIT

ATUHE (A) : 9T FHeA0T IHT SR LI
T T |

& (R) : I8 TrEHifes i omvad e |
(A) TP IR T W € |

(B) 31T TToTd & X A TEl & |
(C) e 3R o 141 TTerd & |
(D) e TEl & oifhT b | &1 T8

ST AT TeAd & |
SHeATOT i A il i e &
(A) . 3TEHEE A G
(B) TafE = fagia
(C) (A) 3R (B)sHI
(D) SUIH | I HIE T

frefefag & @ =9 91 &\ Hedor &
fogia T8l & 2

(A) TEUA F GEd

(B) THEEE 3R GHTHAT i (GG

(C) TASH I T9g

(D) THITHT 1 g
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45. Match the following : 47. Match the following :
List—1 List — II Concept Propagators
(Theme) (Theory) a. Industrial 1. Karl Marx
a. The labour i. Trusteeship Democracy .
welfare Theory b. g(tl}lstrla;. ii. Robert Owen
. . itizenship
ﬁ?eliiiophy fcl)i c. Class Conflict @ii.Peter F. Drucker
guarding  the d. Welfare v. Sydney &
terests of Movement Beatrize Webbs
labour against Codes; b o d
the exploitation (A) Qi G v
of employers. (B) iv i i i
b. The labour 1i. Placating (C) i i iv iii
welfare Theory (D) ii v i i
philosophy
€Xposes the 48. Assertion (A) : Industrial Labour in
cause of India has been migratory.
empathic Reason (R) : Driving force in
considerations by migration comes almost entirely
the employer of from one end of the channel, that
employee  well is the village end.
being (A) Both (A) and (R) are wrong.
c. The employer iii. Policing (B) (A) is wrong and (R) is right.
has to set out a Theory (C) (A)isright and (R) also is right.
portion of the (D) (A) isright and (R) is wrong.
profits for the
benefit of the 49. Match the following :
employees Theory of wages _ Propagators
d. Labour Welfare iv. Philanthropic a. Wage Fund Theory i. John Bates
is provided for Theory ) 3 Clark
pacifying  the b. Margma}l‘ 1. Johq
agitating Productivity Davidson
working class Theory .
Codes : c. Bargaining Theory 111.{\(/)[1'11111 Stuart
i
A) 3 1t\)/ i(i:i cll d. Investment Theory iv. Gilelman
(B) i iv i i COdes; b ¢ d
© m 1 i (A) i iv i i
(D) iv i il i B) i i v
46. “Labour is not a commodity” — is the (©) voun u1
assertion made by (D) i i v
(A) the Declaration of Philadelphia 50. The “Marginal Discounted Product of
adopted by 26" session of ILO Labour” as a modified version of
(B) the Magna Carta Marginal Productivity Theory was
(C) the Constitution of India advanced by
(D) the  International  Labour (A) Tgussig (B) Kalecki _
Conference (C) Ricardo (D) Adam Smith
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45. TTfREd S GHd ST :

Tt - 1 = 11
(efter) (fergier)

a. ST AT T 9 i, I fagid
[ERISER-TlCae
S ot SRl 3
SN9OT & Ufer feent
% Teal ol I &
e & |

b. ST AT T,
HUART Bl Jelle
fote farstes g
AW =R

1 GHAT HLAT & |

c. FrarsTE =t et
AN T S AN
FHUARET & AT
TG B

d. 9 FHamwT HEWR v, remeiites
Sof & farg i fagia
T A & [T
IERIS I

He:

ii. wihieT fagia

iii. viferaT fagra

(A) i v i i
B) i iv i i
© i i i v
(D) iv i il i

“gfeh T I%] &l & — g SHAT
frfefaa gry =ge fmar T e
(A) JTREE W G & 269

JMYAYH R 3Miga  Themeiewman
EaRcIEL|

(B) HT e
(C) 9RA & |iag™

(D) SO 5T T

47. ﬁm%f@ﬁﬁgﬁﬁaaﬁﬁrq:

48.

49.

50.

HeheqAT PPCeo)
a. AT a1, et g
b. fEnfre ii. T AR
ANTRERAT
c. @ gad iii. 92T TE. g
d. FHT TR iv. el 3R SieEs
I
WS :

a b c d
(A) i i ii iv
(B) iv i i il
() I TH v il
(D) i iv i iii

FfHFe (A) : IRA # SRS g
THEERT € |

% (R) : EFERRT H TE €9 [P &7 |
TR et T 3T & o8 & e |

(A) (A) 3R (R) IH To1d € |

(B) (A)7erd & 3R (R) W&l & |

(C) (A) W& 3R (R) H W& |

(D) (A) el ¢ 3R (R) ToTd € |

TATaRad s THMAT i

gt % fagia PEEo)
a. TG Aty o fogia 1. A 929 Forh
b.%maﬂ ii. ST Sfoea

c. HiRaTS & 9Eia i, S It e
d. Ferer = fagid iv. fSerer =
HE :

a b c d
(A i iv i il
B) i i i iv
©) iv i il i
M) i i i v
“oT T WA g7 IR W ScATgehdT

& fagia =1 sofd &9 2, @ 9
efefed =i ¢
(B) herreht

(A) e
(C) TRepret (D) ueH fay
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